TS SET

Notations :
1.Options shown in green color and with ¥ icon are correct.

2.0Options shown in red color and with * icon are incorrect.

Subject Name : HISTORY
Duration : 180
Total Marks : 300
Display Marks: Yes
Calculator : None
Magnifying Glass Required? : No
Ruler Required? : No
Eraser Required? : No
Scratch Pad Required? : No
Rough Sketch/Notepad Required? : No
Protractor Required? : No
Show Watermark on Console? : Yes
Highlighter : No
Auto Save on Console? Yes
Change Font Color : No
Change Background Color : No
Change Theme : No
Help Button : No
Show Reports : No
Show Progress Bar : No

Group 1

Group Number : 1

Group Id : 51714465
Group Maximum Duration : 0

Group Minimum Duration : 180
Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 300

Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

Paper 1



Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear
Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

517144129
1

Online
Mandatory
42

42

100

Yes

0

1
517144397
Yes

null

Question Number : 1 Question Id : 5171449741 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to

replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Which of the following factors can influence a student's motivation to learn?
% BNHD o @oToen Do s (8l [Herddo Jaron.

Options :
Genetic makeup
agnBg08 osgso

1. ®
Socioeconomic status
5 ¢ TEPRE ©BY ol
Weather conditions
aeentes é&%é&m
3.
Political affiliation
.y orasdoh emoo

Question Number : 2 Question Id : 5171449742 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to

replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0



You are a school administrator aiming to improve the institution's learning
environment. What steps could you take to achieve this goal? Select the
most appropriate options.

oy a8 ol &}Uﬁfméﬁaéog ©ggd SrErHdessn sHBD Desred 8T

& o8 o) Sgen B%0trD). D JBAHD E dong Basnsn
Options :

Implement rigid rules without student input.

L% Em@dﬁgm ﬁa‘j‘.}tﬂéé Bowe £6:35 Johdred eodendding

Offer a variety of extracurricular activities.

2. ST @“O%G%éé seUgEdred (Haarbohe

Ignore feedback from teachers and students.
GarEgainen, 5)(:5“56%@ e)|ardirei égox‘.ﬂjgsémiﬂ)éa

Keep the institution’s culture unchanged.

H0R 505&@3} 3’3306539) Dot
4, % o

Question Number : 3 Question Id : 5171449743 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is a primary objective of learner-centered teaching?
DB éo@égé 5558 (Brs s oF0 b ?

Options :

Transmitting facts and information to students.

_.'.I}-u/ e i o
e QQEPORD, DRTPTPTRR) E}mgtﬂnmmé) Hosped

Encouraging rote memorization of concepts.
aﬁ@ﬂcﬁn{ﬁp g;;ﬁé 38 e [BFsS)Erohe

Fostering critical thinking and independent learning.

Eer¥ @55 Sedold SRStV ot Vel vdelaletnolcy
3.¢ e

Limiting student engagement to assessments only

, Jorsthe darERoHet: HoHo Hv(ah HB&bSo Bk
4.



Question Number : 4 Question Id : 5171449744 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the main objective of MOQOCs?
MOOCs (57 eFgehad

Options :

To offer degree programs exclusively online.
Blf seEgESreth oS8k frE@ih wostcint

To provide high-cost specialized courses.
) % ©éod ah @"}é@é @Uég{éé}é}ﬂﬂé} EJU?"-.JEJ} Sasneo

To offer free and open access to a wide range of courses.

RS 758 arEEHro @otbs & 553%0 gdhothé
3.¢

To limit access to courses for enrolled students only.

oty @’ﬁ%ﬂ?ﬁ‘& éﬁ]iﬁ)iﬁ“’méé& Vg etH Soe(e$sh HBM&o Saknd
4.% 2

Question Number : 5 Question Id : 5171449745 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What does ICT stand for in thg context of education?
D Howohod ICT &GI8 Somohood ?

Options :

| % Interactive Classroom Teaching

5 % Integrated Curriculum Training

3 @ Information and Communication Technology

International Computer Tools

Question Number : 6 Question Id : 5171449746 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the primary objective of descriptive research?
DB 588888 dmgyg oFo wdh?

Options :

To manipulate variables and establish cause-and-effect relationships
Serodroin 578, o8, (Dgrs Howorrd)) Je8 et

1. ®

To explore and understand a phenomenon in its natural setting
- o) sTres minbie :ﬁ@ﬁ&ﬁdﬁﬁ@ @3&310%’:1, @QD%K}}%‘%}E}

To predict future outcomes based on historical data

awﬁtmé&é Heod eI 08° g Pherein ®oSTracing
3.

To test hypotheses and theories using statistical analysis

Kearo¥ DI SH@PAG) HBEenbe QTROBOMD $880%6
4. 8

Question Number : 7 Question Id : 5171449747 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is a central tenet of positivist research philosophy?
fﬁaﬁééé aﬁﬁéﬁfﬁmééé@ o8 He(EnH?
Options :
Reality is subjective and can be understood differently by different individuals.
TRDNES aBHSHHG DY HhedH DY Ssranr eBoseHdi)ib

Research findings are shaped by personal biases and opinions.
58805 HDace Tt ;’Jé%vav@faﬁ, ofErdires® nd3.

Research should focus on understanding the underlying meanings and
interpretations of participants.
éﬁ@iﬂ a0 ©@0SHHRD OO, DNBBON ©Fo SoHes® HoE%E0

ESJ?&E}&EE).



Knowledge can be acquired through objective observation and measurement.
DepEare 588008", Pessd G Hoar&osHL).
4. ¢

Question Number : 8 Question Id : 5171449748 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the purpose of the literature review in the research process?
HB8% (HBaHE® (Ko }i’:n’fbé ﬁé%ﬁ;&b ?

Options :

To collect primary data from participants
'S 05008 [@EdnE Barod WEde

1. ®

To summarize the research findings

. 56805 HDere Holiidrohes
2.

To identify gaps in existing knowledge and establish a theoretical framework
38 %506’5 ®@odorein B0, Jrpod BrHEeS Elelelalelnslis)
3.

To draw conclusions and make recommendations

Snhoess 3D SeSden Joskoe
4, %

Question Number : 9 Question Id : 5171449749 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The abstract in a thesis typically:
GrHE 5885 750 Holifsieain
Options :

Contains detailed descriptions of all research methods

| o) 58858 mgéam .‘J’J%e‘_ﬁ ARBessweny BOR &oéron

Is placed at the end of the thesis
Qepod 5o DBY Bt



Summarizes the main points of the thesis in a concise manner

3 QEPOB® FTGIEY A0gy DRATEED B0 ErHos® Solrtirdob.

Lists all the references used in the thesis
ﬁ}tﬁ;@@u ané:f;ta’méﬁ &3GPA0ND @) Jodbodeid erdae 3@0&.
4. ®

Question Number : 10 Question Id : 5171449750 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Plagiarism in research refers to:
5880558 (K0ds FEgEn edre

Options :

Collecting data from multiple sources to ensure accuracy
% CRANSE INAVIINY FrothHe 2srog Hdhe ol Sarod SESes

Properly citing and referencing sources used in the research
5B8°EHE° SHEERODN SheH Kbre eHBod HedohHe

Using others' ideas, words, or work without giving proper credit

3 @ 08 HBahil P80 owiiore adthe e8P Sben, Hrtren, B0 SH@rA0DHE

Sharing research findings with the public
508500 HDsre (Heos® HoHE e

4. ®

Sub-Section Number : 2
Sub-Section Id : 517144398
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 5171449751 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (11 to 15)

Question Label : Comprehension



Note: Answer the questions 11-15 by reading the following passage:

HE: Bodd asxpid Jirarto egrdore Q. 1108 Q. 15 Dot Jirgraroe (ardhodb.

Some of my critics have said, “Oh, he is a good observer, but he has no power of

reasoning!” | do not think that this can be true, for my "Origin of Species’ is one long
argument from the beginning to the end, and it has convinced not a few able men. No one
could have written it without having some power of reasoning. | have a fair share of
invention, and of common sense or judgment, such as every fairly successful lawyer or
doctor must have, but not, | believe, in any higher degree. On the favourable side of the
balance, | think that | am superior to the commeon run of men in noticing things which easily
escape attention, and in observing them carefully. My industry has been nearly as great as
it could have been in the observation and collection of facts. \What is far more important, my

love of natural science has been steady and ardent.

= 3]6’335:)3@@55 E°oBth mer want, 6.5, @S5 S0d HB8e%, =od @8 woE &8
8t I” 28 Qo Sty 35 @8RS, JohEod TJH BD0DS @RS e fjajfoﬁ A
S0tid) ool DHB DB 2.8 K:oé:g} NN, 06cin ah Elodhod ;‘35’)3-3%@6 spEern &ri
a.onosiORoh. BPod eg)E €8 BHome Q55 [FahBH. H8 DechHHosDd eV LA
Gln Bt SNABOT EOA  &olDdodd oferen  mofderto Gln @6334335 TeBEgo. o5
&t o ofren Poore ﬁa&dﬁﬁ 3 B’a&’m&é&a@ﬁ;.
DB, T Doedore 5&%&‘* éﬁ:&c}zﬁjéﬁ APSTon ISty g)]“ééc}ﬁ“ KoloSkos® LB
7B erlidre Kxo0oBEos® Frarde Sifhe So8 DA TG @l . ardaro
$5B80% Hbain HESHS® > HOHEDH oo ﬁ“éﬁ}rwﬁ e lelnly Eéﬁﬁﬁ). Teer E0gKgR
DHEHo D0, B FKoD TH RBD TR
Sub questions
Question Number : 11 Question Id : 5171449752 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Critics condemned the author for want of
&é}égé}ﬂ} BJowesih DHEEHH0E? molooein.

Options :

common sense
aoﬁéa,j;éo



reasoning

) @B&éo

communication skills

3 % PR Jedeago

creativity
\ B

Question Number : 12 Question Id : 5171449753 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The above excerpt is taken from the autobiography of
2) JForod0 ©dES Sob B8 0800

Options :

Charles Darwin
|« @80 &80

Erasmus Darwin
@Uﬂﬁéﬁ'—} 08
(o]

Alfred Russel Wallace
sB\E S a8R

Charles Lyell.
80 Habd

Question Number : 13 Question Id : 5171449754 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The author feels that successful lawyers and doctors are
DeascHBoBIH Trgaharthen Bain Jhgen @8 Bhond grdaeth.

Options :




generous
STPBIErED

observers
564e%en

industrious
(¥ Sden

decision makers
28 ond gjgéﬁao A% dart

Question Number : 14 Question Id : 5171449755 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The author’s inclination for compiling facts, reflects his
TFHaredn Kdofedo Bahios® Sons GIng) S0, @&l 0 (H8Dodknod

Options :

Diligence
é@éé Seeih)
&

Reasoning
% @vﬂééo

decision making
E’Jgdﬁm B3 &%

3. %

motivation

4 % (@05

Question Number : 15 Question Id : 5171449756 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The synonym for the word-"ardent" is
BV &8 Hord8 bSiecornslale




Options :

insubstantial
30230

impatience
BRTFR0

eager

ﬁ@ﬂr\j‘!’mo
3.9

Sub-Section Number : 3
Sub-Section Id : 517144399
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 16 Question Id : 5171449757 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

communication helps in remembering details of earlier

conversations and interactions.
éaﬁ)}éﬂéﬁﬁ H0:0DHB Dogrdgeen 0BG HBNYE SBe DDTCOD

$B0HE S K0s® Hibchnthehod

Options :

retentive
| o B0 28

reliable
Eéa’nécsﬂeé

inquisitive
Berd
=

consistent
E@:riﬁgj_aeé



Question Number : 17 Question Id : 5171449758 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

provided by teacher in the classroom helps in building students’

confidence.
S5K58 KoSh 5&313@5@5)3@ @ofods g:ltjfgééﬂ ﬁ%ﬁ%ﬂ@& 2osrobostod’

R5BEHHHE00H
Options :

assignment
© Q05

positive feedback

" e S)elaty

lecture
ﬁ‘.ﬁm&ﬁo

negative feedback
é@@ﬁé@_}é Silelaly

Question Number : 18 Question Id : 5171449759 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Effective communication across cultural boundaries relies heavily on maintaining
attitude.
BersBodHES @osGogyd Sogrde, S8 JPdI EXFFA0SE0D ST

esgrSsils Sotnob.

Options :

negative
| % 85T

positive

indifferent

3 % F AT



aggressive
S

Question Number : 19 Question Id : 5171449760 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Lack of clarity and coherence in providing information, is an example of
barrier.
D& oo ©0B0SE oS D) Hdatn ol BEDED G0

@%o%g Sorates

Options :

organizational
éo’é{;ﬁa‘é

psychological
Al

emaotional
epﬂﬁﬁf:iéﬁ

semantic

-,1{1
Lo ©8:5080850d

Question Number : 20 Question Id : 5171449761 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The usage of mobile phones for many functions like : to talk , to watch movies, to
send emails is an example of

Setptiero, alaren Sriéo, Bdhonen Hodto Hod w3€ DHe Edo
S0z8s §EKe V@Ko & &ordeies

Options :

media convergence

v Segigsh Beond



out-door media
@erBol sr¢isho

2. %

transit media
Baroeae Eﬁﬂnﬂﬁgoﬁ.'](}

3.%

traditional media
~ro(Hmrad SreisEno

Question Number : 21 Question Id : 5171449762 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

10, 14, 22, 38,70, ___
Options :
| 130

2 v 134

138

3. %

4 % 140

Question Number : 22 Question Id : 5171449763 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

ATV, UQS, RNP, OKM,
Options :
HLJ

1. %

L JHL

; % HIL



LHJ
4.

Question Number : 23 Question Id : 5171449764 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In a certam code language if the word LOCAL 1s coded as MPDBM. then which word 1s
coded as DBMMEFS ?

2.5 D0 §5 270’ LOCAL &3 H5¢50 MPDBM 1 §°6 D002AS. o) HE0
DBMMEFS T §& D0H28068?
Options :
CARROT

CODING
2. %

3 @ CALLER

CARING

Question Number : 24 Question Id : 5171449765 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Two numbers are in the ratio 9:11. If 6 1s added to the first and subtracted from the second.
the ratio reverses. Then the first number 1s

BOCR SoBE 9:11 AAIBS’ &) 0. 0L T8 6 S°B0IDA, BT
DOA BRI A, DS 855 €96)e808. 953160 J0c3e3 dows

Options :

1. % 18

¢l

2.

3 % 306



4 % 45

Question Number : 25 Question Id : 5171449766 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

A loss of 12% 1s incurred by selling an article for Rs. 132, Its cost price (in Rs. ) 1s

208 0380069/ &°.132 8 902680 T 50° 12% 0 SN0A. A &G

Options :

v 150

5 % 120

4 % 176

Question Number : 26 Question Id : 5171449767 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Statements:

No building is wall.

Some walls are rooms.

All buildings are rocks.

CSLTATN VS

o) 2338307 s ¢,

&) Fesen fenen.

BITON) TF.

Conclusions:

l. No building is room.

. Some rooms are buildings -

1. Some rocks which are not buildings being walls is possibility.
ST I eN:

. ) Zededadm (1 57 .

1. S0 fichen Homren .

1. 25a5mren 5% ) Ferew Fen™ 03 @55°40 God.

Options :



| % Il follows

Either | or 1l follows
2. &%

| and 11l follow
3. %

4 IIl and either | or |l follow.

Question Number : 27 Question Id : 5171449768 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In a class of 95 students, 40 play cricket, 50 play football and 10 play both cricket
and football. How many students play only football?

05 D0 NTsHed BG5S, 40 HOA (83 edmd, 50 HOO HE oS
e3CEPCH SHOA5W 10 HOE 183 SHOHAM HE S BoR0eE3D) estherd. Dok
N0 DrTsdoen Y& S AT|eha esETE?

Options :
1. % 45

2.« 30

3 % 40

s

Question Number : 28 Question Id : 5171449769 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

How 1s my father’s daughter’s mother’s only daughter-in-law related to my wife's son ?

T B0(@ B9 S JBE en o grdy FtHd® derod grogso SOA &ob ?

Options :
L& Mother



o % Father
3 % Brother

Sister
4.% 7

Question Number : 29 Question Id : 5171449770 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The distinction between laukika and alaukika is made with reference to which one of the
tollowing pramanas *?

eT"85 SHBA5D 03" 8% eI 550 &2 1800 73S &) |DSTETRE
NO20H0D BAHHEOH?

Options :

L% Anumana (Inference)

Upamana (Comparison)

3 Pratyaksa (Perception)

S'abda (Verbal testumony)
4.%

Question Number : 30 Question Id : 5171449771 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following 1s signified by the term *hetu’ in the process of anumana
(inference) in classical Indian School of Logic?

S0ES Q0BOHS S @D €235 S @ddsrd (VT°G) IHEOHS” T e
DR &2 1806 B3SO ArDNOH?
Options :

Example Provided

. &orsetes @ofolSasod
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Statement of reason

- o830 B8 (2B

Proposition to be proved
QBDoSHonD (HBarED

3. %

Conclusion Proved
4 % Swhoz) Ahsodadob
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Question Numbers : (31 to 35)
Question Label : Comprehension

Note: Answer the questions Q. 31 to Q. 35 on the basis of the information given
below.

HeDE: (80C QI 5GBS DTG0 esmrdom Q. 31 A0& Q. 35 |H4) 050
QAP TTEN (P00,

Six different companies A, B, C, D, E and F manufactures a similar product . the
costs of raw material, labour cost and overheads per unit are given in the following
Multiple bar chart.

A, B,C,D, EHB05D F e e38) B350 00000 2,3 DA 5ed 180
SSOIPED TUTOW. SBAGH DA ED, BDE HED) SHBCIN AT E L,:55 337G ew

180 230 230 RS @6 52F°0W.

Companies Manufacturing Costs

35 30
30 25 25 -
25 20 20 20 20 -
7 20 15 15 15 15 157 I
o 15 10 8. 10 g BN 10 10 | i
= I __ I [ | I - KB
5 ] . . - .
,:, i I ki | 1
A B C D E F
Companies
W Raw material cost W Labourcost B Over heads

Sub questions
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Which of the companies has the maximum cost per unit?
&) B0 AR50 DR B8 5O sod?

Options :
.® A
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If company B produces 5,000 units and sells them at Rs. 68, then the profit of the
company is __

020 B, 5,000 GO tre)ed T ATReE) & . 68, e9d209, @9 3¢0
00 erLBo __

Options :
Rs. 1,65,000

Rs. 1,40,000

Rs. 1,15.000

4 % Rs. 1,55,000
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Which of the following statements is true?
808 1HELIOS O D207

Options :

The labour costs, of E and F are same.
E o805 F 3w, S8 e 236> Goerow.

The ratio of costs, Overheads and [abour is same for A, B and E.
DN, La38TFHED DB Bbe) AN A, B SHBHO5 EEy
) % IR0 €50EN0R.

The ratio of total cost of A and that of D is same as the ratio of total cost of E
and thatof F

A OG5 D G3nE) 00 O 3% D)8 E SHB ok F adwng) Swedo

- ¢SS AB0E) DAIBE HSPSOTP GOEN0H

Labour cost of E 1s less then labour cost of F

. E 826 s F B 5o B S8
4.
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Company D can produce a maximum of 1000 units per day and company F can
produce upto 800 units per day. If these companies sell their products at Rs 60 and
Rs 80 respectively, then what percentage of D's profit is F's profit in the total
maximum production of 10 days?

0200 D H280 #1000 1000 CHIAEN) 6518 TAHHeE) SO0 do F
523750 800 CTQE) SHBHY e85 168 TOHHOED. B2 0D 503 G568 1NN
SEIMT G- 60 OGN Er. 808 JEoww), 10 Here) 05 &b 183>, F T3k
er250 €5 D T3nE) €250 Doed 50 ?

Options :
L& 15: 16

, x -4
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If after a few changes in the production process, the labour costs of B and C
become equal, then what will be the ratio of the total cost of the companies?

&c5183 |DEADS §AY STSI0 STPeeh, B 2H0AM C TBnE) S0 ehjen
DSFIOMT 7O, E0DRE [0S0 DA DN Do &0LNO0H?

Options :

w101

Can not be determined

DYoW0HBO a0 T

4.«
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VIRUS stands for ?
S8 e
Options :
L% Very Important Record User Searched

, w Verified Interchanged Result Under Source

3 % Very Important Resource Under Search



4 Vital Information Resource Under Siege
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The term Internet means ........
S0 edre

Options :

| Interconnected Network

5 # International Network

_ Interactive Network
3.8

_Internal Network
4. ®
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SWAYAM platform was developed by Ministry of Education, lIT Madras and ........
qoho SOED @é)a‘}ej% IHJH DogEoBEy g, 0.80.8 HiEed, Hbd.....

Options :

NPTEL
1. ¢

, % NCERT

3 % UGC
Both Aand B
A 58acn B Bo¥id
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What is the full form of USB as used in computer-related activities?
Eoipstabi Bomofodd svtﬁét_éa’):m@éﬁ SH@DPA0DD din. R, )

a8 Tesho
Options :

Universal Security Block
1. #

Universal Serial Bus
2.

United Serial Bus
3. %

None of the above

239 52D
4. 8
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...eeee 1S @ type of memory circuitry that holds the computer's start-up routine.
Borpgtoth (@r8od BB :;mmﬁﬁ wma;;ié 8, SH3nbd 8o

Options :
RAM

u Cache Memory
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In which year did the word 'sustainable development’ come into existence?
QeBis @@é@%’ o) DodeéBo aetgioa SAAKS

Options :

| 1992

, % 1978

1980
3.¢

4 x 1987
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The tropical region lays between .....°Nto .........%S
&gshode (odsm .....0% Hob......... 05 &gsy esotnob

Options :

L ¢ 10, 10
, % 20,20
3 % 30,30

40, 40

4. %
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What is the total percentage of nitrogen gas in the air?
D& JEPeid araingd Sndo &0 Jod ?

Options :



12 per cent

| % 12 3e&o

21per cent

) % 21 Jr&o

78 per cent

87 per cent

L% 87 @vé&o
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Which of the following processes explains the working of a geothermal power plant?
&10D @ HBad ﬁcﬂpaméaﬁ HHB aotn HO&BBH 20508

Options :

use of potential energy to produce electricity
. DGHE  BEEKIH Dogray 88 AAFHO

use of thermal energy to produce electricity

Lo DEHE SEEES G5B DIGHIO

use of kinetic energy to produce electricity
VGG GBI KBee8)E €8 DI

3.
use of tidal energy to produce electricity
. DEHE SSHBIH voo 8§ HATrFHO
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Kyoto Protocol (1997) was related to.......
1997 8%¢5° (£865°seS B8 KomooRHB



Options :
Protection of Ozone Layer
L% 5,855 &rsdo 8ot

Reduction in Green House Gas emissions
- @éjé{ﬁg ﬁej,‘s’.:ﬂ adin émgm@?ﬁj éﬁciﬁj@

Conservation of Biodiversity
s % DTSR 568K

Limiting the rise in global temperature
5503 SEDLS® 1HrbEe $8MEo akne

4.%
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Which was a famous Cultural and Educational Center of Northern University
in ancient India

@D grBs &8 DEDID) BB PO pBE &}mvgéo@ﬁﬁj&
Options :

Takhyasila
1. ®

Bikramshila

Valabi University

Nalanda
4.
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Educational TV was first introduced in India in the year......
50805E° SnisBFbrr LUALARARY @ﬂéﬁj&%é 2oBEBo



Options :
1961

1. %
5 % 1959

, » 1968

, % 1965
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Which of the following is an example of non-conventional learning programme in
India?
50805 FolHordhs’ ©gr50 SeEgERNRE Grrsrin

Options :

Information Technology
HEPTE FroBaEH

Dentistry

nlel: Falaltany
2. %

Journalism
. L et

Hotel Management
e ABgses
4.9
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Every system of education is based on?
& DTS Kxgé {%?J_EE apetns &ob

Options :



ldeology of nation
L 3% grderedn

Social development
. ﬁnoé’pasvé]aﬁgj%

2.
Intellectual development
3. ;33555%}%
Skill development
Sdersd}
4, %
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CLASS stands for

CLASS edre
Options :
Complete Literacy and Studies in Schools
1. ®
Computer Literates and Students in Schools
Computer Literacy and Studies in Schools
Centre for Literacy and Studies in Schools
4, ®
Paper 11
Section Id : 517144130
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Number of Questions : 100
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Microliths” are the important tools of the
HrRH0855men @ eerl8 Fobsd)

Options :

Old stone Age
ard T8 OSnidw

1. =

New stone Age
STl Wovnlatavs!

Middle stone Age
3 % onglk o°8 Ainifam

Late stone Age

o8 s eapth B4
4.
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Identify the wrong statement about Harappan Civilization.
Sy SeRESE Sogfobod HBsed (HHSHEnd HEoin

Options :
The largest site 1s Mohenjo-daro which covers 500 hectares.

500 Zrsethe S &rld Fnrofotd o Blalbiaiehs

1. %



Great Bath 1s a fine example of beautiful brickwork. It measures 11.88 X
7.01 m and 2.43 m deep
i SSardE mEnsos® D8osnls HoBEHS EeKsn. =k 11.88 X 7.01 ety

HBcsn 2.43 s & EDA cnH)d

Citadel of Banwali built by stone is a monumental work and most
impressive among the Harappan Citadels discovered so far.
0558 8% ooad Aods mm® HOH Sfty Seary aeiiBES and) el

, o S008° 908° DBLESK EDAFB

Harappan people obtained Copper from Khetri mines of Rajastan.
OPAR) By (Besen D"ﬁ%ﬁ?ﬁ &0 P Ko o8 Srobordd

4.%
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Sambara. Pipru. Arasasanas. Shushana and Namuci are
Jroard, ), YR akte bcin By en

Options :

Tribal groups which existed at the time of Aravans
| x 98ye see08? Si)tnsod) Abed 8ien

Enemies to the Aryans called demons and were killed by Indra

- estinge dlghedenre epﬁﬁoiﬁaaté oeEroen 501tH0T SoHedart.

Names of rivers and Mountains in Ancient India
DS srooTd SR’ Sihen HoBn DHegmen

3. %

Non Aryan Gods

L% a?_amvt% BSsen
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Correct Marks : 2 Wrong Marks : 0

Identify the Correct Statements about Purohits Rishi Vasishta and Risi
Vishvamitra who played a major role in Rigvedic times.
Borigs seosnart (Hng ar@ Hirodd HEEréen B8 SHBYEH bt By

A FEEHE DogiodHod) HBeon) (DHHBHWeD HBoDEm

1. Both were bom in a Jar
gﬁﬁigtﬂrﬂ S nta 23RO B
1. Vasista was a conservative and Vishvamitra was a liberal
DB FroDdTrahard DR STebard
111. Both are borned 1n a Kshatriya clan
Slater g Sizlony el ol e300t
1v. To widen the Arvan world. Vishvamitra Composed Gayatri Mantra

8500 S a5 B DTREDERE mron(@ sholprd))  HoSonin S
Options :
| » 1andiil

11 and 1v
2.

, x land 1v

4 % 1 andiii
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Symbolic of their friendly co-operation in married life the couple 1s
supposed to perform sapta-padi (the seven steps) in to which direction.
Darseboss ADSos’ 2 EBEEY HSraHHEnr8, ?So&f.jﬂs’gjniﬁééorw 0% #DoS5me08

5590 (D ©hiben) D oSbFH. S H B S hiben k.

Options :

East and South East
éJDEi)D:, snBcn @ﬁ&dﬁ} Ejé‘bgr



North and North East

| o SE5ED HBcH Sy B8,

West and North West
é%&é} sobcio 335053555 E}é}@r

3. %
South and South West
) BEes SoBcin IHS
4.
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Identify the correct statements about Manava Dharma Sastra. often referred
to as Manusmriti.
BrRd B8 R’ BSor ‘B’ & Homohd H8 eond [HHSIDWeD

KB oHsm.

1. Manusmriti did not condemn marriage between dvija male and shudra female
BrerEd HBEHIE shdain &Er|E Lf;_}n 8 05y Dawaite)) oo B,

1. Manusmriti states that widow should not marry
508 (DHeedsn Do) BBA DarririoetD

1. Manusmriti  “states” where women are honoured. there the gods revel.
where they not honoured. all religious acts are become futile
D0 S (DseBdm B &) en PEDosathet @égﬁ Gsden ﬁo@&,ﬁ]é&dmé

e PEDoSass ©f) & derodsven HE oo Beran.

iv. Manusmriti frequently mention that “Women 1is not fit for freedom”
o) B ASNTFE B T wioren 528 66080008

Options :

) o 1L il iV

y % i, iV, i



iv, 1,11
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“Cattle are our friends. just like parents and other relatives. for cultivation
depend upon them. They give food. strength freshness of complexion
and happiness. Knowing this Brahmans of old did not kill cattle” which
Buddhist text quoted these verses of Buddha.

“HHJen 0K MDghen HdH SDHGoIHhen s0BAIL Bofhiden Serfd @l &t

@D, a'jéa’ﬁvdimﬁé FBE eprdSHthadn. © e3od)), S8R, Sngarddid
HoBod Krdorr GohEr $o8%rd) EDAFron. SHBI ard SBXw (@demen
DB Jo0HB%H” & a}:acﬂjmﬁ SPEGRIEeRD o) G°% arPecHsm AALeVENA

o Y8 =
Options :

Sutta-nipata

58D >
1Lv

Anguttara Nikaya

5 % aolhard Apoh

Digha Nikaya
&t DpchH

Majjhima Nikaya
o2 Dpcd

4, %
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After death of Buddha, his followers divided into various sects. Arrange

the following monks and their sects of Buddhism.
anﬁﬁﬂgﬁj Qoegeasin SXnard 3:1}:15{.3}-5‘& Bpgen wa¥ Fgenre DETPoneE.

£ |Bob ﬂg Jegoeid a8 o8 Fpe& 28585550

Monks Sects
(Seegeioen) (Fegen)
1. Purana a) The satyasiddis
SHOPEED ”K)éé?}:‘ﬁmje_n
2. Vasubandhu b) The Darstantikas
HNodlotntd cﬁtﬁf@:ro@svm
3. Kumaralabdha ¢)  The sarvastivadins
é}éﬁé@&:«gé& mﬁag’c’g;ﬂ&éj@}
4 Harivarma d) The Mahisasakas
5658 Soeraroten
Options :

L 1-d. 2-¢c, 3-b, 4-a
, » l1-c, 2-b, 3-a, 4d

l-a, 2-b. 3-d. 4-c

3. %

L% 1-b, 2-¢, 3-d. 4-a
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Match the following
£ |180b 700 2:8855t0ham

Mahajanapadas Capitals
(Fosibesdinren) (Smgg Heyeasinen)
1. Vatsa a) Upayini
3e8) 5230000
2. Chedi b) Mathura
=38 VA
3. Shurasena ¢) Sotthivatinagara
ErSaden ST b TeTg e
4. Avanti d) Kausambi
©H0S 2°&r0d)
Options :
1-d. 2-c. 3-b. 4-a
1.

1-b, 2-d. 3-c. 4-a
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There are many different “Eras’ used in Ancient India. Match Eras with

dates which they started.
198 grE88408® oY WEhnen oeHEs’ &)E). & (Bob FEdmen @)

ErigeletAlotAN K}Dééﬂémﬁ}gﬁ 23850 B,

1. Vikrama Era a) 824 AD.
DEDH S 8.%.824
2. Saka ‘Era’ b) 58B.C
BE 5w 1&.5r.58
3. Kollam Era c) 248 AD
BPedn ¥ &.4.248
4. Kalachuri-chedi Era d) 78AD
SHSeH-36 FE5w &.5.78
Options :

l-a, 2-b. 3-c. 4-d

L% le. 2-d 3-a. 4-b

4. 1-b. 24l 3-a 4-c
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Assertion (A): The Indus valley people took care of matters of hygiene
A8 arEm (A): DEFPS HE LoBSrarridEs (Desen Jo&? Létéefn EDAcian B
Reason (R): The drainage system. connected all the houses to the street

drains which were covered with brick or stone slabs.
s8eegrSHn(R) @ (58 =08 @32 D6 B2 scendod Senddsn SHdam
82 atnden Sor Trow Hendod® Hrdhdchdsn & Lra8,
B3 58 Both.
Codes:

HoBaren
Options :



Both ‘A’ and * R’ are true and (R ) 1s the correct explanation of (A)
| v ‘A SBcs» ‘R’ Borr $Beonda &dain (R). (A) 8 488 D58

Both (A) and (R) are true. but ( R) i1s not the correct explanation of (A)
(A) %8050 (R) Bo&r HBeonia 500 (R). (A) 3% £BE D8, 520

2. ®

(A) 1s true. but (R) 1s false
"A’H8 e@onidd =2 (R)&y

3. %

(A) 1s false. but (R ) 1s true
‘A’ S5y 520 (R) 856

4.%
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Identify the correct statements about Alexander invasion of India
e Tn L OF) ©BrpoXb Sof dir@oh Sonohod KBeond (HHSSsmei HBoHhH

1. Alexander crossed the Hindukush mountains in 330 B.C and entered
North-west India
&.5r. 330 &° Srordh 8@ sned ood @@QOG"S e PBSBE0 D

88 Grisai

11. To commorate his victories Alexander built two cities on the banks of
Jhelum river namely ‘Bowkhepala® and “Nikhia’
o85S BB (Posrop Dech Srd¥orr w8ford  dodin $6 2.d doh

SeigEmen ‘Feare’ HocH VP o VBT
1.  Alexander divided his Indian conquests in to sixX satrapies. and three
Indians Ambi, Abhisarika and Purushothama were appointed as

governors of three Satraphies
@Bgomg erB8B808° monodd (HETeH 6 FrEheorr DB,

Sor&od P S0t B8 ©@od), ©frdE HHBSH HHEESSne

DeH oI

1v.  The most determuned opposition to Alexander was organised by a
confederacy of tribes led by the “Asvayana’ and “sivis’
@Ergotﬁoﬁ B A8 198088 ABad erdo Jargy o8 Qhdheonod. &
%ﬁé}va)gﬁ‘s ‘odioirien’ Hbain QDD en Sghenre God.



Options :
1 and 11

11 and 111
2.%

s w 10 and 1v

~1and v
4, %
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Ashokan stone pillars were transported from North India to south India. In

which place these Ashokan stone pillars were made.
8 Ber K@JDQSBS&J@J = 1xl] erRSSnEEn Hob [t eSS TENHD S

DohaBaoron. & Ber %Dﬁf&ﬁl}ﬂj B Soirtscabaron

Options :
Allahabad

| % @osbaed

Tosali
gesld)

2. %

Chunar

3JL‘EJKI°5

Sasaram

4 % PORPTD
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During Mauryan period officers were called “Thirthas™ Match the following Thirthas

with their duties.
S e o006’ @fsehod ‘@D;E’ a3 @q;ﬁm a8 Gk DHe& 28htH5n

Thirthas Duties
@D;ﬁ Den/medronn

a) Sutradhyaksha (1) on wine

e 38 2 ( HHBHoH)
b) Sulkadhyaksha (1) on Weaving

HOSKE 38 59
¢) Somadhyaksha (111) on Agriculture

S vIA VY agarahEn
d) Sitadhyaksha (1v) omn Sales Tax

& = =

SLdali-Vlas) ~e) e°6y D

Options :
| w @l b-i el d-iv

5 o AL, b-tv, c¢-1. d-iu

a-u1, b-iv. c-1, d-1
3. ®

L % a-iv. b-1. c-iii.  d-i
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Identify the wrong pair
P05 285 MHBoha
Options :
Karumarkarar- Executive officials of Sangam Age
| % éiﬁ}ﬁmiﬁ@r55 - Joiishsreiin o8 seBRorE efsthen

Ivali Maravar- Spys druing Sangam Age

5 2580 Hbard - Doldsesn o8 Kredorten



Vedaras — Hunters of Sangam Age

_ SBBD - Horoseedn ool ﬂéarwﬁ@

Umanar —Manufacturers and Sellers of salt during Sangam Age

L &Hard - Holdseednd? B3PS Daiwardn SHdcin @33&55‘363
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Assertion (A) :  Ashoka was the First Indian king to speak directly to the
people through his inscriptions.
DByE 8w (A) 188 oS ool ez [B&g8ore Somotisin
EORD rBsBE shod) IS areoHed o885

Reason (R): In North-western part Ashokan inscriptions were written in
Aramic and Kharosht1 scripts
so8egirsin(R): o8k g [Erosddined® Sonodd aesbinen ‘©tnE’

S0Basn ‘31355%1’ DS (rchHadaron.
Code:
Hodeeen
Options :

Both (A) and ( R) are true and (R) 1s the correct explanation of (A)

. (A) Bt (R)Botse $Beanss. HB8a (R) . (A) & $beans D56e
1.

Both (A) and (R) are true. but (R ). 1s not the correct explanation of (A)
- (A)Bc5w ( R) Bodr $Bmondd. =20 (R) . (A) % HBmonsd DHde 50

(A) 1s true. but ( R) 1s false
3 % (A) JBwondd =00 (R) #5p

(A) 1s False. but ( R) 1s true
4 % (A) &5p =20 (R) 5B000ss
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Correct Marks : 2 Wrong Marks : 0

Arrange Chronologically the following Sathavahana rulers according to

Matsya Purana
SEYYTresn [HEelin S (Bod FEarird Trereld (BirinNdorr et

a) Hala
Soentd

b) Lambodara
P Te A eI

¢) Gauthamiputra Satakarni
FSEDHE SED

d) Yagnasri Satakarm
cheld a858
= =
Codes:-
Ho8aren
Options :

g: b ¢ d

, Db a ¢ d
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Match the following Port cities with the coast.
£ |Bob T:rsa’g;é%zaa’m@ © & HEwEBBos? EoSb e8sthHsdn

Port cities Coast
é@;a%mmm H5m(E5BBHD
a) Sopara (1) Guyrat coast
Bard Heoesd HEndBEn
b) Tamralipti (11) Bengal coast
=o5008) BorrS HHw(BBHD
¢) Arikamedu (111) Tamilnadu coast
©88&tH SEH HHnlBBED
d) Barygaza (iv) Maharashtra coast
Bbrees Sossfoeg HS5m(5HBH0

Options :

a-1.b-11, c-1i1, d-1v
1. ®
» % a-ii, b-1il, c-iv, d-i

y % a-iii, b-iv, c-i, d-ii

4 v @a-1v, b-ii, c-1il, d-1
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Identify wrong pair
0050 28:) HBoEm

Kings Dynasty
Teeren Podam
a) Vasudeva (1) Sakas
VA Foen
b) Menandar (1) Parthians
Soarowed @vgdﬁaé)m
¢) Kardamaka (111) Kanwas
égo"mé SPEa0LED
d) Gondophernes (1v) Indo-Greeks
Ho&" 8y 5060 AiHen
Codes:-
Ho8aren
Options :

| % a-1,b-ii, c-iii, d-iv

) % a=ii. b-iv_ 4. d=iit

; % @-1v, b-1il, ¢-i1. d-1

L a-1ii. b-1v, c-1, d-ii
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Girnar Rock Inscription mentions the repair of sudharshana lake by
Skandagupta’s provincial governor’s son. Identify him
Ao o°8 FHHED (HeelEn DEgd Srsind QoBHHd TIRch areHd

&5 L)) Dohadod. @SV HBoEHEBD.
Options :

Chitradatta
L% DEBED



Chandra Varma
isl(afale)]

2. %

Chakrapalita

L SEFDSD

Jayadatta
lovilaliTad!

4. %
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The special type of cloth manufactured at Mathura during post Mauryan period

was known as
S5 8ge Sgrearosd s2008° Ehss’ @’3355@_35 HHo Johads.

® HHo 2 DB?
Options :

Shataka

Bess
1.¢

Madukada
) S

Shali
ard)

3. %

Avasi
©dirn

4, ®
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According to Allahabad Prashasti Samudragupta captured several kings of south
India and released later. Identify the kings with their ruling places.
wePaed [}fa%‘% (25e8a0 DEn(eSrha)tD BBl orero3058SY 20809

EHard HETED. & veeren HBH W DN TregEnOD HBITE 2SEDBDHEN

Rulers Their kingdoms
TOresen a0 Treggamen
a) Mahendra (1) Erandpally
Horols B0tHDHE
b) Damana (11) Pisthapura
38089 &@g@,iﬁa’m
¢) Hastivarman (111) Yelamanchili
SN chesnodd
d) Kubera (1v) Vengi
SEale Soh
Codes:
HoBeEren

Options :

a-1, b-ii. c-v. d-u1

a-i1, b-i, c-1v. d-ii1
2.¢

a-i, b-i1.  c-1,  d-1v
3. %

, w AV, b-iil c-ii, d-
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Match the following

£ |Bob oAl ezstddnhain

Authors Texts
(HozE8en (NoHsinen
a) Bhatti (1) Hayagriva Vadha
58 OIS 505
b) Bharavi (11) Duta-Ghatotkacha
TG & o8
¢) Bhasa (111) Ravanavadha
AL TP
d) Mentha (1v) Kiratarjuniya
0 %Dﬂ@ﬂtﬂaﬁﬁcﬁ}o
Options :
% a-1.  b-iv. c¢-iil. d-ii
a-11. b-111. c-1v. d-1
2. %
_ a-111. b-1v, ¢-1. d-u
4 o il b-1v. c¢-11. d-1
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Identify the wrong statements about Harshavardhana
SEPB0NE Kogiobo) HO57R) (HiSHsmein HBowhim
a) Harsha assumed the titles ‘Huna Harinakesari. “Rajputra’ and Siladitva
GroeesrBIBN8, Tra|E HBn ‘Berddy ek ot T $Bod
b) Harsha Empire divided into Buktis. Vishayas and Gramas
SFPER an@amgm gh8en, Xdhawen, [resnenre DBRoDHDED
¢) Head of the Bukti 1s called ‘Bhagapati’
g08aing) @fsed GrriHd’
d) Head of the vishaya is called pratipalaka
NCH @HHS HBaraHith
Codes:

HoBaren
Options :
 xaboc
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Chronologically arrange the following rulers of Rastrakutas according to
their reign
S (Bob TrgiEre) vrerei ar8 a0 2BaReR sodmibad (Biribridon @ranin
a) Amogavarsha
©BTEDREE
b) Dhruva Dharvarsha
cﬁ@&’)ﬁﬁééiﬁoﬂd}
¢) Krishna -1
SnB Btd
d) Govinda —II
Bokd MDothHth
Codes:
HoBaren
Options :

a:; b oe,.d

1. ®

b.c.d a
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Match the following
& (Bob R0 esHhthhin

Founders
(%5;3&@::)

a) Drudaprahara
58S

b) Bittideva Vishnuvardana
EALATALY DBBD

[+4] [n ]

c) IInd Tailapa
Bots) Sespth

d) Mayurasharma
éﬂdﬁ)}réééé

Options :

| % a-1. b-ii. c-iii, d-iv

) % a-1v, b-i11. c-i1, d-i

3 o a-i11, b-iv, c-1. d-i1

a-11. b-iv. c-1. d-iil
4, ®
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Kingdom
(Tresgin)
(1) Kalyani Chalukvas
Sgogre orEhEgen
(1) Kadambas
gEioanen
(i11) Yadavas
ciretsahen
(1v) Hovasalas
FPaHsenen
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In which war Pulakesin IT was killed by the pallava Narasthmavarman I
HOHTES I8 $58y0RY) @ cﬁnt@ioeﬁ‘s Do HeEdd SPEBPC)RD

Options :

Peruvalluru
2BHersH

Manimangala

. Sodsnote



Pulluru

s x DR
Kadaram
4 % SEe85w
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Identify the wrong pair
DB tnDdoH a2¢id HBohin

Options :
Gurjara — Prathiharas — Mihar Bhoj

% Bt - (5855 en - SorBiertd

Paramaras - Gopala

et s ten RParents
2.

Guyrat chalukyas - Kumarapala
- zoes orEhdgen S5 Sarentd

Gahadvalas - Jayachandra
48 HserrEgenen 22CNWoEHEH
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Chronologically arrange the following Temples according to their vears of
Construction.
&% 1808 Tarechinedh ©f AoEaghid HoR&BEne [Hetin (Brdhdorr

[Blersitavs)

a) Purt Jagannatha Temple
2P0 eland wechsin

b) Brihadeshvara Temple
eagja’ﬁé)égi 33080

¢) Vaikunta perumal Temple
08 HAFE eechHn

d) Chennakeshava Temple
Bé&ééé e3edHAD

Options :
L« ¢, b, d a

2%c.a.b.d

b, d. c. a

3. %

L% g P e d
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Match the following
£ (BoB 7708 esedhthham

Universities
(D8 Dargechiinen)

a) Nalanda
Heos

b) Vallabhi
509

c) Jagaddala
esiige

d) Ancient Taxila
@8 $58e
Options :
a-1. b-ui. c-1v. d-u
1. ®

- a-1i. b-1, c-iv, d-i1

a-11, b-1v, c-11, d-1

3. %

4w iV, bell ¢l d-iil

Specialization
(H858S)

(1) Hinayana Buddhism
e 0t ﬁgmém

(1) Mahayana Buddhism
s0a3EaieR ﬂ“éé}e‘.ﬂé})

(111) Vedic Texts
SesFEmen

(1v) Vajrayana Buddhism
Slesadrd " ¢sessn
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Chronologically arrange the following Alvars
& (508 evwxBhoih (Biri Kdore [@esnim

a) Tuumangai Alvar
8Bdron eexb

b) Tondaradippodi Alvar

SorEEEE eexb
¢) Nammalvar
55 o520
d) Periyalvar
Flalevii Fvita]
Options :



i Doead

b.c.d.a
2. %

c.d. b, a
3.9

c.b.a.d
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Identify the four Mathas established by Shankaracharya
SoBorertndd FooBals Trenth Werod HBoWHED

Options :

Dwaraka. Puri. Sringeri and Badrinath

\‘/ B, G0, %@Dﬁ& b alBaed
1. %

Kanchi. Sringeri. Dwaraka and Puri
¥od, §ond, oxBs Hbatn 5o

2. %

Kanchi. Sringeri. Puri. Kedarinath
. god, Hond, Frd Hbdin Swrdae§

Sringeri. Puri. Kanchi and Kedarinath
4 x HoNB, &b, Bod By STTH
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Identify the right statements about Arab Invasions
od SolcirEeH Hogfohod) HBwond BHHSHsned Hbohin
a) At the time of Arab mvasions of Sindh 1n 711-12. the Caliph was Al-walid
and Al-Hijaj was the governor of Iraq
8.5 711-12 2o ©8d Sokdirge Hchos® pdarre od-708 Hbon
5078 KO0 ™ o6 Frerd Gold

b) Dahir, the Rajput ruler of Sindh died in the battle at *Alor’
&5 5 238/ cﬁmﬁgo-@f’ Dobareiith tragEhEs $irb HHdoad
¢) Muhammad bin Qasim who led the mvasion of Arabs was re-called by the
Caliph at the end of expedition was charged with moral turpitude and put to
death
w88 Sordirge D50 $36° BodcirEath TrahidEn HerodS B0seEnd HS
grooi §hir SHEH HDDHod I8 QF)gie8esin 38556 Dahad Sotea By,
DBOIH
d) Under the leadership of Abu Mashar the occupation of Sindh was completed
by the Arabs
wariid ohEsos” ebanon Hob eEHed Frorrdods.
Code:
HoBaren
Options :
| w acd

b.cd

2. %

3Ja.b.c

i. b d
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Match the following
& 1Boh 08 2:68500han

Texts Authors
([KoBamen) (BSomnden)
a) Chach Nama (1) Minhaj
TeTeTPRT &}Jéﬁ
b) Tabaqat-i1-Nasri (11) Alberuni
Seris—-a-H(0 SIS oWy
¢) Tahqiq-1-Hind (111) Ziauddin Barani
$5RE-a-trob 2P b
d) Tarikh-1-Firuz Shali  (1v) Muhammad Al bin Abu Bakr Kufi
oBE -~ -5 E ey énﬁﬂa’ajéf) @S5S oarads Hi
Options :

| » a-iv. b-1, ¢l d-iil

a-111, b-u. c¢-1. d-1iv
2. %

5 % a-1l,  b-1v, c-iit, d-1

a-1,  b-ii. c-iii. d-iv
4. %
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Chronologically arrange the following invasions of Mahmud of Ghazni on India
OSRd0 D E.’D?”.jﬂa"méﬁ Hesd) todcir@e |Biriisont [ardindin

a) Defeat of Jayapala the raja of Bhatinda
BB o= ﬁ@fg?ﬁ& acharend) L8056

b) Loot of Thaneshwar
@“}3%‘55 @n0s) &59,8
¢) Conquest of Kannauy
ESPE @ng) es|Eshes

d) Attack on Somanath Temple
Doed BarerchHdn S0éyd

Codes:
HoBeEreD

Options :

. =% boc, d a

I O

; v & b, c. d

4. % d, ¢, a, b
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Assertion (A): The credit for establishing the Muslim rule in India went to the Turks
A8y arsgan (A): gPESB506° HnHS ©f5eTet)) FHODD dE L5 Jothidhob
Reason (R): The Turks were new converts to Islam and therefore proved more

fanatic in their religious zeal as compared to Arabs and Persians.
se8eegirdam(R):  ©ben Srédorre acka shaedy f}&éﬂoﬂa‘ﬁ) =59 Had eBa))en

0Bc5w 5}%6535&} g Hoeraidsm B
Codes:

YoBemen

Options :



Both A’ and ‘R’ are true and ( R) 1s the correct explanation of (A)
L (A)Boin (R) Bodr HBwonids, bcim (R). (A) % Hbwond D&

Both (A) and ( R) are true but (R) 1s not the correct explanation of (A)
5 % (A)Bcm (R) en Botsr HBeomsds, 520 (R). (A) % H8mond DH8e soth

(A) 1s true but (R ) 1s false

(A) $856 =0 (R) $5p
3. %

(A) is false, but ( R) is true
(A) 85y =0 (R) £886

4. %
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Which one of the following was not one of the characteristics of Delhi Sultanate
88 $058 @nE) Hrrsines® Bod DB HBeos o

Options :

There was no Law of succession during the sultanate period
HORS seEnE® ©hses 568 B énaiodd D&E Dpodden 85

Sultans had a highly centralised despotic rule

) % DB0%¥ @dHsE SolBEses eRine @) HErHo

Sultans held legislative, judicial and executive powers
Derinen FON. Tgad , sERTErE epsrbineoih A Gobb.

The Ulema had strict control over the policies of all sultans
4 v ©OB% HerSep &B5reH 8 dcholdn S0t
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To improve cultivation in the Doab Muhammad bin Tughlaq set up a separate
department called
&5 &° Haead [@Famirsndg dwieans HS HEED dovin  Dabadd

Fog IESHre

Options :

Diwan — 1- Amir-Kohi
| v B - a- ©oH5-8%r

Diwan-1- Mandi
, % B - 3-3008

Diwan —1-Arz
; % OF°S -a- ©b

Diwan —1- Hundi
4 % Bard - a- Fob
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Delhi was transformed into capital during sultanate period and developed in a
different stages. In this context identify the areas developed in Delhi under

their sultans.
eride sceod® & Sogyg 2EEaOTT S0GH. o Ersd (Frozeen &) &

QO™)ED SchHad $)Q ®onaron. 8 Hotore SrES [Erosdsinen @
éa@ﬂﬁ;é foerifos® adhthin

a) Tughlagabad (1) Muhammad bin Tughlaq

Siisrerd Sosesind DS i

b) Jahanpanah (11) Alauddin Khilji
23558556 @@5%5 @%

¢) Firuzabad (111) Ghyasuddin Tughlaq
26Pezoers WATFES S8

d) Sir1 (1v) Firoz Shah Tughlaq
20 DB°E ar s

Options :



| w a1 bl c-iv, d-il

, x a-i, b-iii, c-iv, d-i

3 a-iil b-1,  c¢-iv, d-u

L% a-1v, b-i1. c-1i1. d-i
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Match the following
£ |18ob 700 2eHhhin

Group —I Group-II
(e5=-1) (K5 -11)
a) Bankatai (1) A Revenue official under Akbar
so¥aron )b (Bod B3y ofsed
b) Ahadis (1) Cadre of high status cavalrymen
S0 emploved directly by the Mughal emperor
SoKS Fared H&sore Dohihosald &HE 58
Moy tieren
¢) Langarkhana (111) Populating the land after cleaning the forests
eoiibyrd oEHotn DEFHBIISTE @B 220 Emﬁﬂaoﬂﬁm
d) Karuri (1v) The Sikh charitable Kitchen
g0 QEpe Ging) eB&S Hoeish
Codes:
HoBaren:

Options :

| w Al bl i, deiv
, % a-ii, b-i, c-iv, d-ii

3 % a-1. b-ii, c-1v, d-iii



4 a-iii. b-ii, c-1v, d-1
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Name the Islamic religious leader who issued a “Fatwa’ to the effect that the
emperor Akbar had ceased to be a Muslim and rebellion against him was lawful.
artoar o) B HSDET GoLrds edtEd Py bl D e9cHDS D
QDB BHID D seHoDT ®H JBEW SN (HEBoDOS

Options :

Mulla Muhammad Yazdi
| @ Soer Sniand dSrdEh

Mulla Shaik Abdul Nabi
Swep 2 ompd $8)

Maulana Abdulla

SCePar @aper
3. F o™

Mulla Mirza Muhammad
Swer 6;300?: S0ssnd

4.%
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Match the following
& 1808 a0 228585 han

Mughal Employees Duties
(Sorien &355553@3) (e@gigsen)
a) Shikdar (1) Head of the Revenue Admuinistration in the pargana
28w $Biee @¥) IRy TErHHS
b) Amil (1) Judicial official in Civil and revenue disputes
@ibes By Sreoreid Debo S eviglat=gla)
¢) Quanungo (111) Incharge of Law and order in Paragana
So00R0 H8eras® Fos|Bsen seard
d) Amul Guzar (1v) Head accontant
@Xnd Heerb (e KesroHth
Codes:
Hosaren:
Options :
| x a-1. b-1i. c-1v, d-u1
a-111. b-11. c-1v. d-1
2.

o a-il. b-1 c-il. d-iv

4% a-iii. b-iv. c-1, d-u
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Assertion (A) : The Rajput Policy of Akbar helped him to suppress Rajputs
QdySarsgaim : @%5 Drezay(Spraen Traznyidhend @l S5¥ahidot

Reason (R ) : Akbar Rajput Policy secured to the Mughal Empire the services

of the bravest warriors in India
seeesin 1 @) oradld Dorddn Hg HS0NS JeEregingt e Tt L (e S
') A%y @&siodhond PR edffanonartn
Codes:

HoBeren:

Options :



Both (A) and ( R) are true and (R) 1s the correct explanation of (A)
L% (A) 580m (R) Bor HBmondsl 850 (R). (A) HBeond e

Both (A) and (R ) are true. but (R ) 1s not the correct explanation of (A)
- (A) &8c%m (R)Botr HBeomida 520 (R), (A) $% H8=owd s 52

(A) is true but ( R) is false
3 % (A) HBeoowidd =20 (R) 8359

(A)1s false and ( R) 1s true
A (A)g5y 520 (R) 5B=omsds
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Identify the wrong statement about Aurangazeb
TBoBn® Hon0RoN[ToSHEE O (HHS5HD HosE° oBohsn

Options :

He stopped Zarokha Darshan
% ‘Eﬁpﬁﬁsvcﬁtﬁgﬁ’ % DONFahne

Stopped patronage to chronicle writings
) % B 2267 Kozpbderd @D B°08) & (Bpen) @08 Dabain DO

Fatwa —1- Alamgiri. a Muslim legal text was compiled under Aurangazeb
ThorEm 5r00d’D arkm Tgchin 2 &8 (Hofin ‘Hox-a-womnd’ E85B0Sa808

Amur Mirza Lahrasp Mahaatkhan was appointed as Chief Muhtasib
L B ‘Bodrahd’ e @b rersrdD HirasyrsS dohiolaai
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Before Mahamud Gawan Bahamani state was divided into four provinces
Gawan increased to

é}&’jﬂé}éﬁ Hara & Jrdsin @il Jeragdn 4 Uﬂ@g@}.ﬁn RoNalod Kars
58 DogEo IoHs oW
Options :
5 Provinces
L% 5 oolgpen

6 Provinces
) % 6 Uﬂ@‘g@a

7 Provinces
oeleen

8 Provinces

- 8@@@
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Match the following
£ (Bod 70 e28558<haim

(Rulers) (Rajagurus)
(Tressen) (Ceazthtoaden)

a) Krishnadevaraya (1) Kriyashakti Acharya
%%E:Eb’mndﬁam (Bairds eordgth

b) Rama Rava (11) Tatacharya
TPaX0TPC0en Ao VY

¢) Hari Hara II (111) Ranganatha Dikshita
BoEd Teb Sethtd Borarahs HHen

d) Devaraya II (iv) Narsimha Acharya
Bos Bdorahen D80S aTedy

Options :

a-111, b-11, ¢c-1, d-1v
1. ¥



a-i1. b-1v, c-111, d-1
3 % a-1v, b-iii, c-ii, d-i

a-i.b-1i, c4ii, dwv
4, ®
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Identify the wrong pair
28500 2388 rHBoham

Group-1 Group-I1
(Ministers of Shivaji) (Duties)
(Bare cdng) soo(ghen) ( Desoen )

Options :
Majumdar -
| % Soerowrd

Auditing of Accounts
Hero¥smeh e85 Fosne

Sumant -
2. & fJ]&’DOg

Foreign Affairs
DedFe0l TR

Sir-i1-Naubat Commander-in-Chief
H6-m-Tos

. R

Wagqia-Nawis
ST DD

Drafting of Royal letters

L ore: Slgdmesh (Ercing
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Firoz Tughlaq abolished nearly 24 vexatious taxes and collected only six taxes in
conformity with the Quranic Law. Identify them
28%E His @8 HEK e3:58ea P D) Berbodihd 24 Bere Sbpeid 8 3% goed

(Bse8sin 6 Ddned Sesah Shren T BAHBoHED.
Options :
Kharaj. Ushr. Khams. Nisab. Zakat and Land Tax

. PpbeE, 626, gran), 05, =88 Hbdatn grdh 85

Khams. Nisab. Zakat. Jizya. Khalisa and Land Tax
ey, S, s8s, BRdir, 8D bdin g8l

2. %

Kharaj. Ushr, Khams. Jizya. Zakat and Land Tax

P&, &5, gra), BB, 286,55080M 8
3.¢

Kharaj. Khams. Jizva, Zakat, Zabt and Land Tax

pde, gra), BAATR, 288, an Hbam i8R
4. %
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The lowest and highest Mansabdari ranks at the time of Akbar
Sl sredme? eend® i) SEHD 8D B Ndued troben

Options :

Lowest 10 and highest 5000
S 10 FoBosn A&y 5000

1. ®

Lowest 10 and highest 7000
, o S5 10 580 ey 7000

Lowest 25 and highest 10.000
S 25 HBahn Ay 10,000

3. %



Lowest 25 and highest 12.000
4% éé}gﬁ 25 s0HBdm -:I}é}é_é 12,000
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Original name of the famous Mughal Officer Murshid Kulikhan
Snieneseeod? Hg5S 3obS ehsed SwhH goders eben .

Options :

Zabardast Khan
amﬁtﬁ'ﬁé P

Kartalab Khan
glerd g0

Rahim Khan

Amir Khan
4 % @b s
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Match the following Industrial centers with their specialization during medieval
Period.
Hoesgasnot sresned SeB(FEE Solren HBAH ©Y BB H1G JoBT@r 7BE°

238805080

Places Specialization
Solmren @'}égéé

a) Multan (1) Tents
Hoern Goren

b) Amuirtsar (1) Flowery carpets
@) D6 @oHHonH&aeden

c) Sialkot (111) Silk Cloth
%55 E8¢5 o) Hgen

d) Dacca (1v) Shawls
=ose are)

Options :

a-1, b-u1 c-1v, d-11
1. ®

) a-ii: b-iv. c-i. d-iil

- a-1v:b-t. e« d-iii

L a-iii, b-1i, c-1, d-1v
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“The hired landless labourer in the time of Akbar and Jahangir had probably
more to eat than he has now” who commented.
“ordn B Blersrd Erded @85 HBain 2:520A6 sreodnd® SPeeD8 JH8HY

S06H 3B §E\‘& - ;waﬁgé Bt
Options :

Moreland
1.« 3rb eeob



V.A. Smith
4 E}&S

2.%

Jadunath Sarkar
Hard Hob

F.W. Thomas
0. Sen. rde
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The “Mahamudi’ coin which was circulated mn the Mughal period was made of
Eﬁjt”.:nva"m&& TREn InKene srednd® IerHdd® goth. K Esn

B08® Hoirhdchndod.
Options :
Gold

2omrdo

Silver

) Job

Copper

333@0&

Bronze
5130@55333
W
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The Rajastami stvle of painting followed different themes i.e. Hunting

and Court scenes. mythological themes etc. which school continued these traditions
during later period.

Dﬂaﬁgéﬁ 30 Deren YOG DHSHBEDeD @b Hé, @555 Homohd Dgeen b

FoehE Hogfotisnond Deres’ ErtHED GORon. B AroREeaird) o see06°

o 30 @580
Options :

Pahari School

5585

Daswant School
A28 Sl

2. %

Mansur School
ELS] ”;()}D@FEE

3. %

Rena School

4 % Bae ;’m&eﬁ
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Match the following
£ (Bob R exesdhain

Important Gardens Founders
(BnagPosd Suegdddnen) (Doyeen)
a) Chahar Burji Garden (1) Asad Khan
{ﬁ?’JEE&Jg esTregResn @H8 §ed
b) Shalimar Garden at Srinagar  (11) Shajahan
(B5KEE°Q arDErE rw3S apa®S
¢) Nishat Bagh (111) Jahangir
A& aeh asonb
d) Shalimar Bagh at Lahore (1v) Zeb-un-nisa
ePFPEEY SpbSrEerh éani)&ﬁv

Options :



a-1, b-m. c-u, d-1v

|, %
~a-11, b-i, c-1v, d-111
2.
a-iv, b-111, c-1, d-u
3. °

a-u1, b-11,  c-1v, d-1
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Which Maratha Bhakti Leader’s devotional songs are found in the *Granth Sahib’
the holy religious book of Sikhs.
Do HHS & (Horsm ¢ Koy s & O hsfoeg 48 GiEhsetd)
278 Rosren Brofhddsadara.
Options :
Sant Dnyaneshwar

Ho& %3-555

Sant Namdev

) 508 Tranoe

Sant Ekanath
Hoé EH

Sant Tukaram
S0& dsrorsn

4. %
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Match the following
£ |Bob 700 2288558008
Artists
Egosothen
a) Kwaja Abdus Samad
groe @E‘}%E 5506
b) Muhammad Hussain Kashmiri
éma”jnaﬁaéﬁ PO FAS) 51}-%5
¢) Baz Bahadur
ers 2iPsreh

d) Ustad Ahmed
kb olayd

Options :

a-1. Db-11. c-1i1. d-1v
1. %

a-11. b-1. c-1v. d-111
2. ¢

s % a-iv. beii, c-i. d-iii

4 % a-iii. b-1, c-11. d-iv
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In India many muslim centres developed during medieval period. In this context

Specialization
BotiEm

(1) Calligraphy

@0t DA

(1) Painting
DISEE

(111) Architecture
ﬁm@mmﬂa

(1v) Music
HohAdsm

which city earned the name ‘Shiraj of India’.

é}ﬁﬁédﬁnﬁoéﬁ et B¥osd eIy éégmﬂ@ S0850 Boloren e éej% Jobzeam.

S SoBSBore o) HEessn DovE B BoBAT M 2% modod

Options :

Agra

= O

Jaunpur

PR v



Lucknow

ok

3. %

Delhi
&8

4. %
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Identify wrong pair
20s5e0) 2280 Hbohan

Options :
Shersha Tomb — Sasaram
- ﬁogléa‘)jﬂ& SPTPeD
Humayun Tomb - Delhi
- ES VT V0V SV S IS T Vil &8
Akbars Tomb - Sikindra
o856 ¥ 28ole

Dilras Banu Begum - Multan

BETD gy BrSn Soers
4. %
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Identify the Delhi sultan who regularly used to receive Ganga water for drinking
purpose.
[Errreeed B85 S8 Korrdd DB Sa)0HEHRy) &8 Koerd H rHBoHhdm

Options :



Muhammad bin Tughlaq
|, SoEEs S S
1. % :

Firoz-Shah-Tughlaq
HEE  HE

2. %
Sikinder Lodi
%8056 &
3. %
Ibrahim Lodi
SloirS &8
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Who named south coast of Africa as Cape of Good Hope.
B elpse DB ©old grred)) B Eo @b HE FD m HESHSD IHod

Options :

Vasco da Gama
| w HEeE

Barthlomew Diaz

2B SHEr BoSTE
2. #

King John of Portugal

oS ToES e
3. ¢

Columbus

L % Eie0aD
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Chronologically arrange the following European Trading companies establishment

of their first fort settlement 1 India.
e Dot QTP JcHlS Insd 8 ﬁga’aéme_}m o) ChrEHoHS H88 Hosnsnen

)O™)ED Fae8d [ESmdorr [Iraingm
a) English East India Company
s0fR &g sobar o

b) United East India Company
SnJBE Seg modair Eodd

¢) Danish East India Company
GOR, & mobdir oHd

d) French East India Company
(09 &g m0&cie Eohd

Options :

. % abec.d

b.ac.d
2. %

- 0

3. %

b.c.a d
4,
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Chronologically arrange the following wars
& (8ot chngsmed [BdrdiriSore (Erainsim

a) Second Anglo-Mysore War
Bokd @ofi’ - Dosireth evlatavy
b) Third Carnatic War
005 Bopeds ongdim

¢) First Anglo-Maratha War
DB esoft- Hooed ahnghato

d) War of Plassey
T ahotn
Options :

% ab.ed

b.cd, a

2. ®

d.b.a.c
3.

cab.od

4. %
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Name the person who popularized ‘Black Hole Tragedy’?
‘epE  FPSDPEIN H wrre [@rHSEne’s 8055008

Options :

Philip Woodruff
20D &P

J.G. Holwell
2.8 FH3S5



Boughton
 &Res
3. %

H.H. Dodwell
5. 25 636

T

2°
4. ®
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On Plassesy War who Commented * There never was a battle in which the
consequences were so vast. so immediate and so permanent”.
‘od)® ©H8H =BAD dﬁnm;@é?&oﬁéﬁ @g?odﬁng $OS5men 208® Darerfontd,

SEeasnonie) snbdin Do&d FPHRSE Honds) o) DS ErgoTh?
Options :

H. H. Dodwell
5. oed E3S

P.E. Roberts

.01 Dﬂmgj

G.B Malleson
3 o &9 desd

Sir John Malcolim
356 wm{%éymﬁj

4. %
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Match the following
& Bob 00 285580

Authors Books
(Hog5EEen (fossmen
a) Alfred Lyall (1) The men who ruled India
@6 86 HDS 50 Erd oGP
b) Philip Woodruff (11) Cambridge History of India
205 HIEP B0l &r50 s modake
¢) H.H. Dodwell (111) History of French in India
D, ard BE3S ePR0 89 (20D as acddie
d) G.B. Malleson (1v) Rise and expansion of British power in India
8.8 SO 80 @0k OEER)0 &5 D8R 56 85 zobdir
Code:
HoSeren
Options :

v a-iv. b-1. c-il. d-iii

5w AL b-iv. el d-n
5 % a-ii, b-iii, c-1v, d-i

a-1. b-11. c-mi, d-1v
4, %
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Match the following
£ 1Bod 700 a8idhin

Authors Books
(HofEden (Hosnen
a) R.C. Majumdar (1) History of the sepoy war in India
5.2 Hoerored Ejnéﬁ e3g & daron 56 3o moldir
b) Kay and Malleson (11) Theories of the Indian Mutiny
S HBdsn HrEBHS HAHOR ©5 & BoBHS BB
¢) S.B. Chaudar (111) 1857 in India
o, 8. K6 1857 ma mobdir
d) T.A. Embree (1v) The sepoy mutiny and Revolt of 1857
.0 Dol B daran HgB wof 85 Gwh 1857
Codes:
Hosaren
Options :
a-1. b-11, ¢-111, d-1v
1. #
, o IV b-1 ¢-11. d-111
a-ii. b-1v. ¢-1, d-iii
3.8
) a-111. b-1. ¢- 1v. d-i1
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In the context of Indian Civil service the period between 1858 and 1919 known as
B08aHS DS JER & RS s 1858 od 1919 S8 Ke scodn
Options :

Mythical rationale
| % SopgardhEd



Bureaucratic despotism

ﬁﬁ%ﬁéﬂ&i}é QBB
2.¢

Domestic Sovereignty

©0S50AE Jetd drfsedsin
3. %

Good Governance
H03bared
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Lord Curzon mmplemented many reforms in his tenure. For this purpose he
appointed number of commussions. In this context identify wrong pair.
b BBS 85 HBareR seo06d @K JdoGBmed 5338 2. & JodiGore
©chd o8 BATFO QT=)ED =y
& (808 BE° D6 HBwmond 2dse6d HBoHED

Options :
Police Commission - Sir Andrew Frazer
- DS BHasS 26 esoltir (Db

Famine Commission

Sir Anthony MacDonnell

- 200 8HGS $6 @060 DEE'IS
Irrigation Commission - Sir Colin scot Moncrieff
, SONGS SES 36 =08 Fp5 DSES
3.
University Commission - Sir Richard Strachey
50HS E&onS %6 Bzeb |2
4.9 N sl

Question Number : 120 Question Id : 5171449862 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No



Correct Marks : 2 Wrong Marks : 0

“The Reforms of 1909 failed in their object to check the propaganda for
self government™ — who made this statement
" SBareng athirbdi) [Boedinen ot 8%5uEnd® 1909 RoBemsinen daeinonaron

Bl DO gy

Options :

Lionel Curtis

DArIS O
1. i

A B. Keith
2.9. &8
2. #

Garrat and Thompson
moeS ®ol proiHo

S.N. Benerjee
. GOR. O ﬁég
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After the pacification of the revolt of 1857 which economic system gradually
emerged between India and Britain.
1857 8hibertn SHIDIAD Soegs mobalr HHBm (DS © Y o @HE Derdsmn
[Eoorr e58eéD 8 HeNob

Options :

Fiscal Autonomy
@88 TrgolEgsm

1. ®

Classical colomal economic relationship

srolRordd Sed ebE Hodiotisin
2.¢ ®

Positive economic growth

DHoHTS @bE HE KA
3.6 ° &



Laissez Faire policy
4 % ééa‘;g @gé Qe
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Match the following
£ 1Bob 708 2285 han

Famine Commissions Chairmans
S0t By éﬁjﬁ@ ( eagisEoen )
a) First Famine Commission (1) James Dyall
0SB B 8asS éé‘ﬁg\j Bches
b) Second Famine Commission  (11) Anthony Macdonall
Bo&d %Y BdHas 3080 HE werd
¢) Third Famine Commission (11) Wood Head
Sortsd Ethdy 8AS D& o6
d) Fourth Famine Commission  (1v) Richard Strachey
e 5 EHAS Beeh (3D
[§] (] 23
Codes:
Hodeeen
Options :

a-iv, b-ii. c¢-1, d-1

_ a-u1, Db-i1.  c-1v, d-1

- a-tv, b-1.  c-11. d-1n

4 % a-v, b-ii.  c-iii. d-1
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Identify the correct statements about the Railways in India
g88B6H @éﬂgﬂé} Ho20800 HB®won DDSHVRweH HBohw.

a) The First Railway line between Bombay to Thana in 1853 A.D. The Railway
line between Calcutta to Raniganj in 1854 A.D. and Railway line between
Madras to Arkonam in 1856 A.D. was constructed.

5% B80S Iméy Inis® Ben (8.4 1853 &° arod ok grarth 8.6 1854 &°

Kofa Hod oodifod B (8.8 1856 &° S Hood @655&53&)3 DB AoSadmron
b) For the growth of Railways in India the policy known as the ‘Guarantee system’
was adopted.
gri5s B¥os® B )8 8 rmgod s & ehen T
¢) To improve Railways and its conditions in 1920 A.D. William Acworth
Committee, F.A pope Committee in 1932-33 A.D. and Ralf. L Wedge wood
committee in 1936-37 were appointed.
5% BEoS’ Ben HBAD & B8P ©iiohE (8.8 1920 & IDcHD
o5)5E Eod (8.4 1936- 37 &° ood) . 25 . IEHE EWB o JHEHn =6R0S

d) After Independence Railways were divided into Eight Zones
el e Tet vy Eéﬁ'ﬁt’_}ﬁ DAE EDSenre DfRoSEo =BAGH

Codes:
YoSeren

Options :

L% acd

&b ¢
4.
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Identify the Trade union Leader who was not associated with all India Trade Union
Congress of 1920.
1920 o8 ‘©F zobdir (B8 chrddhS scofin &° Hodfodsdn 8 O 1BE rdchs

oroBR))  MHBohin
Options :

Diwan Chaman Lal
% Bara S5:508 erd

Lala Lajpat Rai1

, & T 2208 oo

N.M. Joshi
. HS. chD =

Joseph Baptista

E529 D)
4 Y [+ ]
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Identify the wrong Pair
200520 a28:D Hbohdn

Location of Peasant Movements Leaders
B &tigad (Erodainen (FrahXoen)
Options :
Awadh (1778-81) - Raja Chait Singh
@58 (1778-81) ore D& DoR
1.
Malabar (1796-1805) - Pazhassiraja
. Sheerd ( 1796- 1805) D) Ter
Travancore (1800 S) - Raman Nair

3 35 85 (180006° ) oS aaHb



Faraizi movement in Bengal (1800s) - Haji Shariatullah
$0E eifsEn Borrg & (1800 oF°) e 800Hee)

4.%
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The Muslin of Dacca had acquired a fame unparalleled in the history of
Commerce even as early 2000 years ago it was known to the Greeks under the

name of
areedesy S0(ES &% e RS o 88 EOACTIHB. Bo¥isie HodEEsne ©

TG (B0 O DHE a8 HBScHBHowos
Options :

Brahmatika
@B

Vangatika
, x DonBE

Gangatika

- Honés

Meghatika
BFnBE

4, %

Question Number : 127 Question Id : 5171449869 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Who established Serampore Mission in 1799 A.D.
8.4 1799 & 2BoyrE HAS H B FDHod
Options :
Kierander. John Thames and John Shore
L% 8806, &S G5 0805w &8 &85



William Carey. William ward and Joshva Marshman
DOHE 50, HDAHE af bk &aey HrGHES

\"..-/-"?

Charles Grant. A. Mathew and W.F. Ward

. T80 [Pot), o). HrEEg SBatn Hap. P avg
3.

J.C. Marshman. William Ward and J.R. Ritcher

2.0. &g, &rd, DDHD avg obain 2.e6. B85
4. %
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Chronologically arrange the following Universities according to their inception
& (Bob D DTN ﬁ;ﬂj@ém&é D0H8 B0 28 (Barihrison (rainmn

a) The Punjab University
soerd DHRDTegecHEm

b) Osmania University
&RV DFRDugocHso

¢) University of Mysore
D6 D DorgedhHEn
d) Allahabad University
wosfard HIRDTgechHEn
Options :

ab.cd

1. ®

b.c.d.a

2. %

c.b.a.d

a.d.c.b
4,
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Which one of the following statements is not correct about Socio-Religious
Reform Movements of 19® Century India.
e Bdosd 19 & %@vagb’m 78 508 arodnk éoé&éﬁ&:ﬁéﬁv@é Lo2o06od)

% (Bob [HHSHesmed 06 Hos:06

Options :

They condemned monopoly of priestly class
| % 5B°Smes é{é MeEdHeEl)) pododaron

Uplifiment of women was an important programme of reform movement
& o ot
122 ﬁigtﬁs_ﬁ Pogn¥ Ho:)bes &ish oo &oddd
2. %

They supported infalibity of Vedas. Puranas and other sacred literature

S8Emen, Hednen B BSEE DASFoFEw © cing) |ardiredEaih aanddd
3. ¢

They propagated for the growth of education in India
erseh Bdodt ﬁﬁtﬁﬁ}é&j@ E 5% HorBsn Idoeth

4, %
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Match the following
% (Boh a8 exssiham

a) Ivothee Thass (1) SN.D.P. Yogam
O@rd @0 OR. 0. 6.2, s

b) Periyar (11) Adi Andhra movement
Flalevits] b ool &g

¢) Narayanaguru (111) Self - Respect Movement
e ler s> Tav ey S engide I lalvababs

d) Bhagya Reddy Varma (1v) Adi-Dravida movement
ey E%Eﬁtﬁé 36 (B SEEnam



Options :

a-1, b-11, c-111, d-1v

1. ®
) a-iv, b-iii. c-1, d-ii
d<hil ben, cei, deaw
3. %
a-iv. b-iii, c-ii, d-i
4, ®
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“There 1s an Indian saying ‘Pray strike on the back. but do not strike on the belly’.
Under the native despot the people keep and enjoy what they produce through at
times they suffer some violence on the back. Under British Indian despot the
man is at peace. there 1s not violence: his substance is drained away. unseen.
peaceably and subtly-he starves in peace and perishes in peace. with law and
order” — These words belonged to

“grds Do’ o8 rabd Dol DMk HhKed ird =0 §HH D QSN Doy
ﬁéﬁi% orare)  $HBareNE’ (Hmen oodm HoBodd Hotxd 0 ®5PDoITH 5o
OB 778 IHE SrorHE SiHdgen 56&5&5’1}&)8}. 1A% moldir a8 ABoH¥
eerdeP oS FrErdtnaiin B,  (Hemen Toddndsrarddnsng S0, =20
Besen s=dn  Holodd  Hoty &$HDH  BDoHdomrs, Foddindorr, cﬁtﬁéoriﬂﬁ

@fﬁd‘ﬁé{f)}{fb}& iﬁ% H06E%E  PHmen SPHorrd «8D8  eweHBodorth. «=ED&TI

SDDGoarth T - S aEgEnen HBE.
Options :
R.C. Dutt

1%@5.53&5

D.R. Gadgil
&.e36. S
2. 7]



R.P. Dutt

; » ©0.0.88

Dadabhai Naoroji

ereeron P60
4.
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Assertion (A) : Programme of Arva Samaj Like ‘Suddi’ was responsible for the
growth of communal politics in India.
Qg BarEsin 1 ediddradn ang) HE sPEEihamn HY ErletTntsfo ol

Bosoeazdahdnen é&% JobHaron

Reason (R): Dayanand Saraswati tried to project Hinduism as a “Religion of the
Book™ like Christianity and Islam.

se8eedn 1 [BRH&Hard8 O s HErd8 Xty arolir HErdd et al
sn&(ogam GRYHN Sairdol D85S QDErN0 (SaeE)Em SN,

Codes:
HoBeren

Options :

Both ‘A’ and ‘R’ are true and ‘R’ is correct explanation of ‘A’
| w A %bBam ‘R’ Botr 98658 ‘RT AT % 485 958k

Both ‘A" and ‘R’ are true and ‘R’ is not correct explanation of A’

‘A’ 5Ba%n ‘R’ Bor 9858 50 ‘R’ ‘A’ % 888 9d8ee soth
2. ¥

‘A’ 1s true but ‘R’ is false
‘AT 3886 R Sy

‘A’ 1s false but ‘R’ 1s true
A’ &Gy ‘RE860

4.%
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Match the following
% (Bob 708 2:8H%Hhan

Group-I Group-II
(Newspapers / Journals) (Founders)
TR B8en [ a8)9) SP20DBTE

Sudharak
YoeisE

a)

b) Vanguard

Krishna Kumar Mitra
ée:,;géeénvg &oleze

(11) Bala Shastr1 Jambekar

(1)

oreh oD 220D86
¢) Darpan (i11) M.N.Roy
ale)l:3 G0, 0n. T
d) Sanjivani (iv) G.G. Agarkar
H0850 £ .8 orrgb
Options :
| % a-1. c-1i. c-i1. d-1v
a-i1. b-111. c-1v. d-1
2.
a-ii, b-1.  c-11, d-1v
L a-1v. b-u1. c-11. d-1i

Question Number : 134 Question Id : 5171449876 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



“How can we clamour for self government when we are not willing to grant the
blessings of higher education to our own women? How can we ask the
government to remove our disabilities when we are not prepared to remove the
disabilities of the oppressed classes of our own society? .... If we do not show
earnestness in social reform. will not our attempts at political reform be treated
with contempt and disdain - These words belong to ?

- [fg@é) 698 D5h ol Heraid wodBchore hédﬁaéﬂénﬂé 20080 der
e8osKedn ? Hredndg® ©&HH Hore Hehgod s HBPtoDB O P
SENSINST @U‘:}E}g} (3DeSEnidh aer @thiitiosn ....... Fodng doBeesme HEY
©OITR)) SR, oeesdah QopBeaen ¥efatny 653083708 ®ofiin s -
& résen NB8 Tobdd?

Options :

Keshavachandrasen
45 5055S

Veereshalingam Pantulu
- HB€Oorism Hosen

Iswarchandra Vidvasagar

. SEBSold Deegend

Mahadev Govind Ranade
L% 565 ADob ool
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Match the following
&% (808 08 axaHthhan

Group -1 Group-II
Leaders Associations
(Fechtoen) (H0gen)
a) Abdul Latif (1) Muhammadan Anglo Oriental College
@& odS S0sENES ©0fy 2805066 8
b) Amur Ali (11) Anjuman-i-Islam of Bombay
806 ©b ©oerdS-a-a P «f arod
¢) Syed Ahmed Khan  (111) Muhammadan Literary and Scientific Society
Doixbermb s SmeEES D880 ©ok oBHE TR
d) Badruddin Tvabj1 (1v) National Mahommedan Association
2EBHS vl 3556 HeEniES ©FDREHS
Options :
a-i. b-ii. c-iii., d-iv
1. ®
a-u1. b-1v, c¢-1. d-u
2. ¢

; & @V, b-il, ¢l d-ni

a-11, b-iv. c¢-1. d-umi
4, ®

Question Number : 136 Question Id : 5171449878 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

‘Humanism is a special virtue of a revolutionary” — these words related to
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From which meeting — Gandhi decided to discard his “dhoti” and ‘kurta’ in

favour of langota. For the rest of his life he continued this
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Cunningham circular i1ssued by the government in Assam during civil
disobedience movement was relatedfo.
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To force students and their guardians to furnish assurances of good behavior
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Workers in Tea plantations are not supposed to wear khadi and carry congress
flags.
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Those who actively participated in Civil Disobedience Movement their property
will be confiscated
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“The Hindus will have to be eradicated like the Jews in Germany if they did not
behave properly” — who warned
CrofHe (HHGS Hbe BHéona 336&-5{) & chrthed o DPorrdand Sreorr

TE55n BHBE rothHedd Eri ABDoSEo  e3tih&ol) @l JHG TruBods.

Options :
M.C. Chagla

| % ODo.R.wel

M.H. Gazdar

o%0. 370, KEweb
2.



A. K. Sherwani

&y

&
3 % f)ojg_glg‘ﬁm

Maulana Zafar Ali Khan
5Perd 22586 wdagrs

Question Number : 140 Question Id : 5171449882 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Various Dalit groups were named in different places in different way.
Match the Following places and groups of Dalits
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a) Namasudras (1) Della
TeenER(Eoen &b

b) Puliyas (11) Bengal
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Match the following
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Historians Works
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a) Arnold Joseph Tovanbee (1) The Decline and Fall of Roman Empire
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b) Edward Gibbon (1) French Revolution
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¢) Robin George Collingwood (111) The study of History
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d) Thomas Carlyle (1v) The Idea of History
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Lord Acton - Unfolding story of Human freedom
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&r. 58 3618 ©oB K8 orebairen 38 vreldiren g SO
3. ¢
A.L. Rowse - History in the broadest sense 1s everything whatever happened
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Historians Definitions
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a) David Hume (1) History 1s more interesting then novel
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b) Johnson (11) Geography 1s an eve of History
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Chronologically arrange the following Roman historians according to their living
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Identify the medieval historian who praised Hindu Philosophers. Mathematicians and

Astronomers for their excellent knowledge and command on the subject
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Match the following
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Writers Texts
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a) Abdul Hamid Lahori (1) Shahjahan Namah
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Match the following
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Historians Area of Research
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a) Robert Orme (1) Rajputs
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b) James Tod (1) Military History
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Rameshchandra Dutt - The Economic History of India
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Authors — Books
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a) E.H. Car (1) The 1dea of History
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Who said * Historian 1s not a Judge but a servant of the servant of God”
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